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4. HBREKEDER

£1 FHTEERTHBEEREERENRE (BB B BAT  kg. %. cn. on’

% & 4 B B OE 2 1 ot = B
£ 4F A H  H3 226 H3. 2.9 H3. 3.30 H3. 3.15 H3. 1.1l
BHEFS &K 1169 & 1170 & 1175 x 1172 A 1168
N = wE  EE S 1019
R 956) Gk 628) Gk 90D (K 956) (K 429)
o W T 0o B
B
Gk 625)  (FH 420 (R 2D Gk 625) Gk 583)
BE®DG 1. 35 1. 30 1. 40 1. 37 1. 26
oM 8 B 7 7 8
BG4k E 275.4 +21.5 271.8 *+35.8 287.5 *16.6 243.8 = 17.0 222.2 +£36.6
HTHKRE 597.4 £29.2 570.6 +65.3 625.5 +48.6 612.9 +36.7 581.4 *£41.8
D G L05% 0.09  0.97+ 0.12  L10% 0.12  1.20% 0.08  1.17% 0.12

1kg 38 4 TDN 7.24 7.50 6. 57 6. 54 5.71
BWHE 628 £ 52 62.7 = 1.2 62.7 £ 1.1 61.2 £ 0.7 60.3 = I. 4

o — Xt

43.5 £ 0.6 41.4 = 4.3 50.1 = 3.5 47.2 £ 4.4 48.0 = 7.5
T TR -1
B F e E 2.5 = 0.6 2.2 £ 0.7 2.0 £ 0.5 2.3 £ 0.5 1.9 = 0.4
B MS 0.67% 0.25 0.63% 0. 33 0.62% 0.49 0.52% 0.26 0.37x 0.12
BOW
B3(1) A3CD) A3(1)
A2(6)B2(2) A2(4)B2(1) A2(8) A2(5) A2(5)
AL1(2) ALCD) AL(D)

* (BARHHE) = (BEHKE) / (BREWHKE) x100 (%)





